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1. ( 30 fl~IIUU) ;)-3ilml~'th1lfh end moments '\.1M lfl·H1T11-31u1u..rHaHrlhUl moment distribution method mh;itlu

bending moment diagram n".,.illlfl1-31T1H (rh"''U@li.,r E = 2x10 8 kN/m 2 , u.~~ I = 1.333 x10 - 5 m 4)
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of 2.0, evaluate the required minimum value for Mp• If cry = 200 Nlmm, design for the cross-section of the member

DF, assumed that the cross-sections is rectangular with depth twice that of width (ie. d =2b).
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3. (25 fl:;Ullll) Using the portal method, (an approximate lateral load analysis for multi-storey frame structure),

(a) determine axial force, shear force and bending moment for all beams and columns,

(b) sketch bending moment diagrams for all beams and columns .
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it'" ..• of';' '" it .1'" . .¥4. ( 30 fl~~~'U'U) '"1.:1"if the direct stiffness method ~~fl'31~'VI~fl'3.:1'lli1.:1plane truss 'UllJ'lJ1.:1fi1.:1'U

(a) '"I.:I~~'ll~.:Ithe stiffness matrix K -i1'V1fu~fl'3.:1'll-i1.:1;f,(a matrix of order 6x6),

(b)

(c)

'"I.:I'VI1~hjoint displacements,

'"1.:1evaluate axial force "1.'Uf'U~~'U ea.
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5. (30 f1::::IIUU) Using the stiffness method, and neglecting axial deformation,

(a) establish the stiffness matrix (matrix of order 5x5) for the plane frame shown below,

(b) determine all joint displacements of the structure,

(c) evaluate reactions at the supports c.

Given E = 2xl08 kN / m2
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